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A13. 

G2 
E; = 

G1 +G 
	 • (—c i  + (CI —al) • (i —01(E)) 

G I  
	• (—c 2  + (c 2  —a 2 ) • (1 —132 (E— ei)), 
G 1  +G2  

where 

Gi = (ci — al) • (1 — Pi (ei))% G2 = —(c2 — a2) • (1 — 132(E — Ei))% 

and 

= — b2+(b2+c12)• 132(e —  cî) (=—b1 + (bh +di) • Pi (ED). 	(3.37) 

If b i  +d2 < (bi +di) • Pi(E), 

then 

ET =  e,  qT = 1,  q2 = 0  

•  (1-3 1 (e))—c 1  • 

= —b1 • (1- 131())+d1 • 

Proof 

(i) 	With (3.27) and (3.29) equilibrium condition (3.6) is identically fulfilled, whereas (3.7) 

becomes 

0 	q i  • (--b1+(b1+d1) • i31(ED) -F 42 • (— b2+ (b2+d2) • 132(E -  ei)) 

for all qi• q2 such that q1+ q2 5 1. This inequality is always fulfilled if and only if 

—b 1  +(b1 +di) • 131(ei) 	0 

—b 2  + (b2 + d2) •  (a— e)  5. 0 

which is equivalent to (3.29). 

(ii) 	Using (3.27), (3.32) and (3.33), equilibrium conditions (3.6) and (3.7) reduce to 

f[qi 	(c1 —ai)(1 —  1 (a 1 ))  + (c 2  + (c2 —a2)( 1  — 132(E — EiMdF(Ei) 

(3.42) 

for all distributions F on [0, e], and 


